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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (il.w S /L—[-2Y
Q.1 Questions / =iy A B C D
3 e bud 2§ Tnlb A (f 22kt ‘ F’-’d&” > A
Which one is the female reproductive part of a flower? Androecium Gynoecium Stamens Calyx
5 e bW SR | A esing 34
The specific combination of genes in an individual is called: Genotype Phenotype Dominant Hybrid
5 e SUEF ORI EAAL g | Pfl QFET i Fatdh
" | The principal building block of many kinds of biomolecules is: N <€ Z c H
" e Bt F A S u§ o Fe iy »
In which of the given external-fertilization is found? <-Fighes Reptiles Birds Mammals
5. o e (G 2 4 1
The number of lobes in the right lung is: R
. vgﬂ;fw,;ug@ For| oA oL o dus uEis
" | Which one of the given medicines is cardioton\ieé\ & Morphine Aspirin Streptomycin Digitalis
te-bn? L NG R A e S ool | Rt Hr ) e
- 'g'::r:::: tzrl?xf:c??es ingamplet \ rhand retinEion ot Respiration Mutation Fermentation Gu@tion
Questions /= {1 A B C D
5 el | U i S
" | The base of ureter s called: Cortex Renal pelvis Medulla Pyramids
9 :‘gdlffd/ /‘ﬁvugc.‘ﬂé’g.: 5Y4 P o1 <7
" | Which one of the given is an example of receptor? Cold Pressure Ear Heat
= ' T w 17 3
Where is elastic cartilage found? Larynx Nose Trachea Pinna
. :u}ifatl&&%glﬁ]r:’;/ s pr J“" dey ey
The positions of genes on chromosomes are called: Centromere Allele Loci Habitat
- PRSI AR AR JI < w2 d¢?
Which one of the given is decomposer? Rabbit Snake Frog Fungi
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Marks:48  Time: 1:45 Hours Subjective Paper  (if) .',,;Jb‘: 145 1)) 48 /l u‘;,‘,,j T
Note:- Section B Is compulsory. Attempt any TWO questions from Section C. .é.:.uz&uﬁruadfc..,:fr.i-f.d:‘ﬂru.» S

<3t~} -LH (SECTION-B /»_»)
2, Write short answers to any FIVE parts. (5x2=10) i eyn L.még...df -2
i.  Write down two hammful effects of nicotine on human heaith. o febpalniy e Lt

ii. Differentiate between the acute and chronic bronchitis. AN ol TP SO T
iii.  Whatis meant by cancer of lungs? St Yo'l a.):’ ‘Cw”g il
iv.  Whatls the role of human skin in homeostasis? e S/, Weduiu en iy
v. , Differentiate between the osmoregulation and thermo regulation, -Eag ..;L-J);;u"’ :f;r}nu'" Eory

vi.  Compare the structure and function of sensory neurons and motor neurons, _;._..,u‘&’d" PrC uJ/uz/ruw;d A~ N

vii.  Differentiate between the endocrine and exocrine glands. & tf bw'ufmfd SNk i

viil.  Compare the sympathetic and parasympathetic nervous system. i i B a SN i
3. Write short answers to any FIVE parts. (5x2=10) iy L,nzn&g‘;.;jf =
i Whyls osteoporosis more common in old women? P ENEAS A W ATV S VR
ii.  What are the dangers due to which Pakistan is at the £ ‘3*-, T P (Y llll\’btuv'l.._.mf_-‘)‘dr i
risk of epidemic of HIV infection?
lii.  Differentiate between the hinge joints and ball and socket joints. F P eS a0 i

iv.  Whyis parthenogenesls considered as the farm of asexual reproduction? .t m'r.{?d'd‘""i " a.fr-o PR of" < 4 v
'.,.:l/;f.._u"'/oo} v

v.  Whatis transcription?

vi.  Differentiate between phenotype and genotype. S J)ut.,at' Tt
vii.  State the law of segregation. AT ,C_;,,u vii
viii.  Give an example of Mendelian dihybrid cross. B e S A |J05.£. Jir o il

(PT0) Q@ (i

4. Write short answers to any FIVE parts. %5@(%.(2-10) L f el L.vnélc.df -4

NS N g™ [

i.  Define symbiosis.
il.  Difference between interspecific and i

- ar 1 P
P I P £ e
) v‘,’,-,;, LU A P i | H

ii.  Write down two disadvantages o Iwarming. i siainl o t¥
iv.  Whatis cutrophication? e . B
v.  Wiite down any two s of genetic engineering. S0 TN by i 4 ;‘,‘j._.;,_.;_v Py
vi. What is meant by ous fermentatian process? e ,-,:’;.,"';_-}-"jf i
vii.  Write down the names of two drugs obtained from plants. LBl Vol n Pia. Ung o v
viii.  Write down the difference between medicinal drugs and addictive drugs. -;_V R IOy ,,_}r{.,. vhi
SECTION - C/r_»
Note: Attempt any TWO questions. Each question caries NINE marks. BRI F ez lctrne Jfie s
5. (a) Write down causes, symptoms and treatment of kidney stones.  (4) s f'j’"’ ComateikizitrSi Al e/ (L) 25
(b) Define cartilage and explain its types. (5) o RES R Ay a"f ¥ (o)
6. (a) Write down disorders of eye. Draw a diagram also. (4) -‘-'?a';-,g‘! K, ‘.. L& ()
(b) Write down the process of oogenesis in humans. (5) BT s‘ 2 ol Soet ()
7. (a) What are single cell proteins? Describe their importance. (4) -:—;:";;',. = _f.'.f.-,'ﬂ\,:‘v' 2T 4 J' fi'h 2
-

{b) Write down the sources of drugs? Give examples. (5) R A R S ‘_‘;I,BL, s ()
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.1 . W/ ~
Q Questions /.~ 11> S A T 1
" | When i Chares Nl | ———
es Elton develop the™ " .
) p the concep;; ecological pyramid? 2017 1927
: LI PN
Human insulin was i i R
prepared .
. Pared in the yea:r 1980 1978 1876
' ' DLW 2L g LS o
Omnivores are such consumers which eat: an K / esdnletyS
3 : Frui g
ch of the given, Morphine and Codeine are obtained? v ) dy?
5, —— e S S S i ‘Q‘ i Cannabis Fungi
) uman blood group is an example of co-domina q" A B AB 4
6. ol o 2 e G Bior
. Vel VPR AP, D e ot .
Genetics is the branch of Biology in which we ;;uaf @ E ~b/dit ol Kt K4l
7 RS — nvironment Microbes Inheritanc duct]
: *blabll ,Jf/ S8 : e | Reproduction
L Inwhich of the given, binary fission doés ot occur? i Lok F1idy Lot e
(Continued/PTO0) =~ ar Bacteria Protozons Pl;r;;ria Hb:g
ra
_ (Li0nie )
Questions /=1y A B C D
8 fe b AL LIS §-L'J'J£Lf Sos St iy LS g sS g FI
" | The neuron which has only one dendrite and one axon, is called: Motor neuron | Sensory neuron| Mixed neuron | Inter neuron
9 -Q,YLM):LCE/( Lf"/l/ukf ._‘/!l,::.:‘ﬁi J,Vz“’:i _‘/lb{)::’:l
" | The cells of cartilage are called: Chondrocytes | Osteoblast Osteocytes Osteaclast
% e S Ak | 20187 Rle1a1 | Rlpfe3 | Rlp/0.750
"| In the normal urine, amount of urea is: 1.87g/1 1.17g/1 9.3g/! 0.7508/!
11 ?g_u’fd'vJﬁ",ﬁJwv{x T S £k Ko
"| Which one is the example of an artificial ecosystem? Pond Lake Aquarium Forest .
_z"_t'nfb’uy“/'gzufu»{ sl =Ll = s .";3’4:(1.‘?»!5
12.1 The process of respiration in plants takes place during: Day time At night All the time At morning
and evening
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Note:- Section B is compuisory. Attempt any TWO questions from Section C. -L-f..-.w.Lu:'im:c:,Jf c.-..u:("‘ 7P e s o e

St~y ~2Yy (SECTION-B /».»)

2. Write short answers to any FIVE parts, (5x2=10) Yy ISy L;w‘.’l&k«:_!}f -2
i. What s the function of outer and Inner pieural membranes? ?;.rmf S yd J;&dunmd., Y
ii. How is extra CO. concentration eliminated in human lungs? fetl ey F Y Py ( COMLILYs AT
iii. What are four major symptoms of asthma? !qu /. ..-.!.qu;J.u i
iv, How glomerulus filtrate Is formed? fﬁ:.f&d_’ :'.:/’" ‘e /.-r‘ v
v. How is lithotripsy carried out? tededdi o

-~

i. What are meninges? How are they useful? fenii e Sadnmeninges) 2o vi
-

i. What is Fovea? Give Its function. -ufud" b’ul?‘;_t-x_bf Laf vii
viii. Write down two causes of epilepsy. Yy ) :;JJ /i

3. Write short answers to any FIVE parts, (5x2=10) Ef ez f Langia ) 3
i What are the differences between compact bone and spongy bone? L0V ufu::tf gy -—é;f -
ii. Whatis antagonism? S'.»:-_l[r}f Cet i
iii. Write down, how do yams reproduce? e e B PS5 i
iv. Whatis meant by altemation of generations? St f Ve RASTAHT iv
v. Write down two examples of deviation from Mendel's laws? -é-fu-‘-'c-»JJljna_.,-fti L)k v

vi. Write down two major processes of organic evolution?

R 9% 4 J’ ﬁmLWJy: Vi
vii. What is allele?

‘.'rr'.,ﬁ/gc.yef Vi

viii. Differentiate between the homozygous and heterozygous genotypes. &y j’J/'uf.'/’l‘:".‘-'ué'}Jsﬁ.‘ulu'gurﬁ Vi
) QCQ)\

4. Write short answers to any FIVE pants. (5x2=10) X O(@ Yy STy Lungieds 4
I How are the levels of biological organization related to one another? . %\;i w2t ea ol AL GRS S
ii. Why is the flow of encrgy in an ecosystem unidirectional? %
iil. Define biogeochemical cycles. %@
iv. What are two major human impacts on the envimnmen@ e Jr iy
v. Write down the difference between old and moder @njmogy with examples. -::_*‘;'\;'givéu:‘w'gjw PEaR I P )
vi. What do you know about lactic acid fermen \ %

N
0 o - | 4l . _,‘.:
S AP LS00
vil. Write down names of two common adfﬁc: edrugs,
viii. What is meant by social stigma?
¢ e

"euslile 3 AN A6 dur

' _!" ¥ -
‘.‘_:'_ .-'/_(r'c_.kvut;" ’.':{’E Ll

& - ar
-.:-:’:;c&..-.p:w.:' EIRST

2 % ik o
?‘:_:l/yc..w"fr R
~N

SECTION - C/r.»
Note: Attempt any TWO questions. Each question carries NINE marks. -w/!&dlmé/j 2l etrne (fio s

~ - ; . "
AT Bt E i F 1 ez () s

3. (a) Howdoes skin play its role in maintaining homeostasis inhumans? (4) ?5_8/7:*,':

(b) What is cartilage? Describe its types. (5) Sk e B ¢ ()
6. (a) Explain the disorders of human eye. (4) el ST L ETI (UYL
(b) What is binary fission? Explain the process of binary fissionin  (5) mEerd S L F 4 Lt VP54 (L)
amoeba with labelled diagram, o ,‘; F =
ES AP
7. (a)What s fermenter? Describe advantages to use it. 4) AW P I Mt B (L) 7

(b) Define antibiotics. Describe their three major groups. (6) -sEehumienl Loty 7 5 A ()
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Y 4 c_uﬁ!;/:(.fo/'b&(b' Lolzernaf u,fua',a,z.védw //Q?dli-wéz—%;D 4 C,B,A ez ¥ Jkédb" & s
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Note: -You have four choices for each objective type question as A, B, C and D. The cholce which you think is correct, filt that circle In front of that

(SECTION-A Ui.»)

questjon number in your answer book. Use marker or pen to fill the circles. Cutting or filiing up two or more circles will result no mark.

Q1 Questions /= Ui» A B C D
" ?4_#ﬂ(jb(}l}/'&(ﬁgﬂ'j;é*duﬁf/%(ﬁj(&uf V’L;{’ . (f,:(f)/ L:/
- | The patient's skin colour may change and e ‘ i % :
become dusky or purplish in which disease? Emphysema Asthma Bronchitis Pneumonia
2. . -40)L‘1K4”‘)£¢U?»){f ﬂ é'/’f ; 7.4/
The waste material of conifer trees Is: Latex Mucilage Gums Rasins
LW KPS IGA Lol b | g ad S o
3. | The special organs, tissues or cells which detect Ef; ¢ A i -
the stimuli are called: B icanc Receptors | Coordinators Glands
a. AT G 14 22 . 24 26
Number of facial bones is: o( 0\
5. s LiBstedndn Ld’kf' i O‘g a bl WU; v dib’
An example of sexually transmitting disease is: \ AIDS Hepatitis c::ghng
_ _uszu,i.ﬁ,yﬂfdué,fuéi’u,ﬁbutJ!i '/QZ) J.‘.( J-'- i g y
6. | In a rabbit, the glands which produce secretions Seminal P * ' <
to lubricate the ducts are:’ f vesicles rena Cowper's
| -Gl 7§ e/ d.bd——bé-gu' KOz @\A{<
7. | In. human body cells, the 23 46 26 48
chromosomes is: A~
% o N\ S E
SUL L5 T 0,424 LI
8. | How many hydrogen bonds aré present between 2 3 4 )
cytosine and guanine? »
= _eObrliey | e ¥B0 ka0 e #30 20
The thickness of biosphere is: 50 km 40 km 30 km 20 km
o ke bl j Lt & WiebL il (KSE oHn el g Al L J‘to{
10 bt P 2 benasbf
" | The relationship between living organisms in " Commensalism Mutualism Parasitism Competition
which one partner is benefited while the other is
neither benefited nor harmed is called:
S Ui ol 56 L1 e | Ut oA | DNALS | LpstBls | bt Lishs
sz f | UA(GMO)LL ¢/
11. b/ Uy
Which is the third step in Genetic Engineering? Insertion of Transferof | Growthofthe | Expression of
geneinto a recombinant |  GMO the gene of
vector DNAin host interest
organism
A AT A K4 2L 7 AlS i p L _
12. | The drugs which inhibit or kill bacteria within or S "ﬂ b -~ "4 £
Antiseptics Disinfectants | Antitoxins Antibiotics

on the body are called :

////!f/d./
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Note:- Section B is compulsory. Attempt any two (2) questions ﬁ-im Section (‘33 = ol S = = o = /
; -EeyzLydrne . ecﬂf' Yl S0 e 2]
(SECTION-B /».»)
i2. vvz:te .short answer“s t:) any five parts. (5x2=10) _:’fg Ny Ldztégc_éf .2
: at is the role of "C" shaped cartilage rings in the wall 4
of trachea? Se b/l VU’/.‘r L é—ék BITRY, yp/
ii. Differentiate between acute and chronic bronchitis. -éd /'utu"‘ g u.uﬂful..a:;cgl \,}(
ili. Write the symptoms of pneumonia. & 1 albwlF N
iv. Write two osmotic adaptations in hydrophytes. _é' u‘fﬂ b by :t»d:u;j ba. ke v
v. What are two leading causes of kidney failure? : ?uzu’; fa{ﬁ:dﬁn(ji_mb’ eLun/ v
vi. Define nerve impulse. _a‘-:’.ziduh Y V/
vii.  Differentiate between diabetes inspidus and diabetes mellitus. _z’-fd/'utu"f s, LILJJU?BH‘Z. W il
viii. Write the function of Eustachian tube. p jé; . J” b’».,dfcf‘-’-?v ] .vm
3. Write short answers to any five parts. - (5x2=10) : _ég iz L;lzté!,a&f 3
i.  Write the names of chest bones. ( _Zf) (L-Lug,;é & N/
ii. Define biceps and triceps. @Q\%Eng ASAE WY i

ili. How budding occurs in Hydra? \\O\ V+J”<—(~€»§U:b#§ il
5 i

iv. Define double fertilization? A e
v. Write the names of different types of genotype. %S@ & (erUla‘? 6.,,}“5 \/ '
vi. State Mendel’s law of independent assortmenb s @ _zédgdzbl&ﬁgdflam ¥ by *\d/
Define discontinuous variations and write its /;xample. _Eﬁd Je»..gdu luléd;,/‘f cj.:«l jd’v 2 il

viil. Write the advantages of artificial selgction’in animals. _‘2.0 b3k # U U

o
4. Write short answers to any w (5x2=10) -ég Sd .:4!!}3 L»iilék.&f A4

vii.

i. Whatis difference between spheric and biological nitrogen s . 4
fixation? . ¥ fe-U U:'-cf*"'a L3 Fb AL

—2154/715«}"'? G
Selfecst) i

EyFS S e

st St hL s

ii. Define industrial nitrogen fixation.
iii. Whatis food web?

iv. - Define thermodynamics.

v. What do you know about lactic acid fermentation? v
vi. What are transgenic organisms? ?d_lfjul,...éj 17 v/
vii. What are cephalosporins? vuzw,/;}’*:’ \N(

,é :«Utfplédé ik Wi/i

viil. Write the uses of narcotics?

SECTION - C (Each question carries nine 09 Marks) (Ut /L JIr 1) fre

@ N LT ) "4

5. (a) Write detail of kidney transplant.

(b) Write a note on types of joints. (5) _éia.bh,(ljuj(j:’lﬁ ()
6. (a) Write a note on forebrain. @ _é LigeLd () )6/
h el
(b) Describe the process of cogenesis with the help of (5) ] é‘f-.'('UL:Lw (5(! f.‘zﬁ d’-’-’ dfg f""’»l D

labelled diagram.

(4) -é‘éuwdd'lfd)géjﬁ:’-’lu@’. (D -7

(b) Describe the mode of action of vaccine in detail. (5) ,éug‘;.—zu,.q Yoy rs’é.a:é, (.)
F Y 4 119-223-1A-34000

7. (a) Explain basic steps in Genetic Engineering.
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Note: -You have four choices for each objective type question as A, B, C and D. The cholice which you think is correct, fill that circle in front of that

(SECTION-A (il.»)

question number in your answar book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Qi1 - Questions /=i A B c D
1. 2SI A aaf Eakel ok = 0¢
The male reproductive part of flower Is: Calyx Androecium Carpel Gynoecium
2 sl s Epbudeiiiseds | awd The - A
The anlmals bred in artifipial selection are called: Cultivars Breeds | Selectives Broilers
3 -7 Ly JJ LG g4 v S5
" | Itis a consumer: Phytoplankton Alga Grass Rabbit v~
4 -+8nu9 i’ L —@@ L Uil
" | Multiple fission occurs in: : Amoeba ast Hydra Rhizopus
p o
( ‘ b,
@ \ o o ] o, b
s | Pl e oA
* | The membranes enclosing lungs are called: @’q@ Nianiltanes e emm:? nes | membranes
0> '» ,i"‘echsz oy
6 _4;_41,&,&,::‘)‘1,45@ J" 1§ oLl ’lo dine o Gl
* | The drug obtained from plants is: Digitalis Asprin Aictars ‘| Streptomycin
Z -QW,’&J Olose Vf A3 JB,;::-% U:' A o A1
It is a pain killer chemical in brain: | Thymosin endorphin Insulin Interferon
8. .é—u:blyérﬂﬁ)ﬁéu‘;} J)L}ff 71 ‘/f U'e*d @#/ %
The waste excreted by conifer trees is: Resins /~ Gums Latex Mucilage
&b/ Lo s IR AP O ki o 2oeLaTis 2L
9. | The projection of neuron which carries nerve =1 ) Node of g
impulse towards cell body is: el Axo Ranvier Niyalio:stmdts
- st ot Mg ‘3”;’)’? B S 2 §4
" | Which is not the part of appendicular skeleton? zir:I:aa Pelvic girdle Am Skull
S btz L RS S-S | OB e Fuug s
11. - ]
In DNA adenine nucleotide forms pair with: Cytosine Thymine Uracil Guanine
v
o | Lo Rostz PSRz b1 i L A e " g e
) ‘x::g ;;srg r:;mtrogen . take" e provists Nitrogen gas Ammonia Nitrites Nitrates

e &

120-223-1A-24000 %ok
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Time : 1:45Hours Group: Il Paper (ID 24 l/.u:.,'.a:f a5
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Note: - Section B is compulsory. Attempt any two (2) questions from Section C.
(SECTION-B (1».»)

2.

TR e

-a%ugéu}lm:ﬂf 4&?)‘.&.{_6)0(».» 1y

Write short answers to any five parts. (5x2=10)

-+ How smoking affects teeth?

What are the causes of pneumonia?

What is the difference between respiration of day and night?
Why there is no transpiration at night?

What is the role of skin to control body temperature?

Wirite the roles of rods and cones.

What is the difference between aqueous humour and vitreous humour?

‘What Is the cause of dwarflsm?

Write short answers to any‘ﬂve parts. (56x2=10)

# What is the difference between compact and spongy bone?

e

ili.

J
v,

Define osteoarthritis.
What is sporophyte and gametophyte generation?
Define calluses.

Define nucleosomes.
Write down the functions of DNA?

What is phenotype? Give an example.

State Low of Segregation.

Write short answers to any five parts. (\\Q O\ (6x2=10)
What is meant by the environment of nism?

Define species. ;
Q
Write two causes of land polluti

What is meant by “3R” principle?

% Define genetic engineering.

erté the names of bacteria used in lactic acid fermentation.

7 elin F Laaibe 7
b N 4UFbe

Sl el 58 Lo

teJ) V&ﬁ/d;éébul I0))
sdnud Ui Pt sL i,
S’q,_;bf !{u’-"é—f s }f Fedz ..g»d:.r"z ¥k
EIHL 5718,
PGPt Drl P E
Yq._y’,g;é()u;bﬁ

7l P Lanibe b7
PRSI

8 AT

@ S o sl S sl
C/«

£
@ Ep 8y
&, 28 LDNA
e fq-le/ bs?
-éog A i} cﬁ‘g)..:c:f,u

7 2n P Ll b7
Cslp Wed? er;‘f g
8

& inL P diLand) s
Sl ol 4—‘}7) 4“3R”
PSP N

-Zf (bLMé;I;LﬂJW!M-JP }}dlu@

vi.
vii. What are addictive drugs? Write their harm. _é) Ukt e
viii. Why non-prescription drugs are sold over the counter? S‘u{&(gd&; y e /"Jb’fﬁﬁf 4k
WALy ) froo
SECTION - C (Each question carries nine 09 Marks)
5. (a) Explain the Peritonial dialysis? (4) _éyu,éyéuy;f }5 s (D
(b) Define a joint and explain its types. (5) -é‘-fcwb’:@rﬁlé’ b;lé’-f.;g A Sesiz (<)
6. (a) Write a detalled note on reflex action. @ -é‘ .b]d‘fd 4J5Jg‘"’ s ()
(b) Explain the phenomenon of multiple figsion in Amoeba () Efve widf uﬁd"?(f&&v(ﬂ W (L)
with the help of a diagram. ’
7. (a) Discuss the role of biotechnology in the field of food (2+2) &L 4/ Lﬁlté’f&uf'-c.’f Lesizn i ()
and agriculture. &
() ‘I?:;::ritre'ez vaccine and describe the mode of action of (2+3) ) 4,;: 3 ' /f"’ v A,f’ sl é - /;- (j ‘_){é’ ()
/// /Z/é/ 120-223-1A-24000
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Time * 15 Minutes (i) e 15 O
Marks : 12 PaperCode |7 |4 (6|5 | Su¢ ~Gl2a 12: /J

A :.-cé&/;l.fu}b&!b' Lotzerna i f u:/’bé-z_.:&.lrédlr /;44((}13-(_5&2,:D 51 C,B,A =z J[‘LJ; v =iad
Kot s 20f 2 2 cur i/ f'f -.‘JLL):;/ UsFlie Ll

Note: -You have four cholces for each objactive type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A (i.»)

Q1 Questions /=i A B c D
g Al AR | it A Cur oL
forms the basis of any ecosystem. Producers Animals Sun Wa{er
2. Wl S s 22 1944 1970 1978 1990
When Human Genome Project was launched?
<
3 Sdnd b il | Ol Sy oW | A S
Sir Alexander Fleming discovered: Streptomyci?\s N\‘Ke@ ycin Diazepam Penicillin
7 Y )
: P
a. o bt ) g H U &
After fertilization, ovule becomes: ﬁ . Fruit Flower Legume
St L s ML st e F1F g 2@
5. | How many hydrogen bonds are present § n 1 2 3 4
cytosine and guanine? A~
g LY g
Uz L pyes ] uf)rnLl;L., K 32 LV
6. B 16 23 32 46
The number of pairs of homologous chromosomes
in human's body cells is:
- LSRN LG | A i '’ o
All ecosystems of the world together form: Biosphere Community Ecosystem Habitat
8. -8t SuLh 20t il Ll 200 206 300 306
The number of soft bones in newly bomn baby is:
?J&J}L/,Zayb}t’,;d/u_{l
9. | How many spermatids are produced from eac Z 4 6 8
primary spermatocyte? :
Types of neurons on the basis of their functions are:
11, _L}.’.LLLLUJ/SU:.:/&U! Fm IIJU’: VY (V4] yy
Number of nephrons in human kidney is: Two lac Tenlac Ten thousand | Two thousand
12. ?dl—ﬂbfigéd!y’u:zuyég 12 24 30 36
How many pairs of ribs are present in chest wall?

117-222-A-35000 Kk %%k




. “ RollNo.| | | | | | |Glalied

Biology S.S.C (10™)-A-2022 el
Time : 1:45 Hours "Group 1 Paper (ID 24 Ug 'fsf 45 o5
Marks = 48 Subjective (1 St G-y 8 A
Note:- Section B is compulsory. Attempt any two (2) questions from Section C. el Luhrnedfatlr o gdiipno s
(SECTION-B /».»)
2.  Write short answers to any five parts. (5x2=10) _éj oy d L.lzték.éf 2
i. Differentiate between breathing and cellular respiration. ,c'éclw}u-"u?-ﬁb)k J:luf; Q’f A
ii. What is bronchitis? Write down its causes. & .:«Lz:(f(ﬂfc;. ¥ J-': §as i
iii. What is vocal cord? Write its function. ( -ég/’d’sb"ﬂ?é—_(ﬂﬂd/» i
iv. Describe the structure of Bowman’s capsule. .édkub(jdﬁ'f e v
v. What are hydrophytes? Give an example. E :d(%-fl?dl |54 u:‘ bty v
vi. Define Reflex Action and Reflex Arc. Ey I8 L
vil. Write down the pupil reflex in dim and bright light. E 2V kst Bz s i
vili. Define Endocrine Glands and write down names of any two glands. »UJ uléd, ,-"' (5;50?’ u"’lf;i‘;l viii
3.  Write short answers to any five parts. (5x2=10) @& Cfé;}ayx/i‘&.:ztég‘é! 3
i. Whatis the difference between movement and locomotion? & é\f\{;\&\o feJiV LSS
ii. Whatis Antagonism? @% Se-Wpife i
iii. What are Endospores? %S SVt i
iv. Whatis Placenta? /Qj@ ?uf.é,{ cft‘-b:{.. v
v. Whatis Chromatin? AN\ O fe lf S/ v
vi. Whatis the difference between Gefptype and Phenotype? fe Gttt a2 i
vii. Define Co-dominance. _éd, ¥l S 87 i
viii. Whatis the relation of favourable variations with natural selection? ?4_(3’7 %4 ab;&;iw L& il
4.  Write short answers to any five parts. (5x2=10) é; ¥4 bz Lplzléyc,éf 4
i. Define Ecology. _c'é-.z vl ‘56.);6 i
ii. Whatare decomposers? ‘AL al Mr[ g3 i
iii. Differentiate between Predator and Prey. _ééjuﬁc_yﬂ PV
iv. What is meant by Deforestation? P P’égﬁ/‘ A8 v
v. Write any two uses of Ethanol. e In0fLJ# v
vi. Differentiate between Alcoholic fermentation and Lactic acid fermentation. ,éd }u:e?? )ﬂlu@.u’ﬁ )u@dl Vi
vii. Define Bactericidal antibiotics and Bacteriostatic antibiotics. -éq ¥ dda £L&0~@:_’,§g»hfz £L&fdfvl«(5 ,é vii
viii. What are Sedatives? S RY il
SECTION - C (Each question carries nine 09 Marks) (L& /L ir 1) Fror
5. (a) Write a note on the Osmoregulatory function of kidney. ®) 2 ..’Jgd) 1] }!L:’ slesS () 5
(b) Define Bone and write a complete note on it. w3 & .:Jc}" Wi 7 8(Bone) 54 (o)
6. (a) Write a note on Pancreas. ®) .é; 7 &iu!._ﬁ"' N 6
(b) Describe the Reproductive system of female Rabbit in detail. (4) .éc)ga(k‘g f"'/ .8 5:415’(]‘ fink ()
7. (a) Write a note on single cell protein. (5) .é .'J.r,ufu,df (f’ () 7

(b) Define Vaccine and explain its mode of action.  (1+3) Eeonfns LS rb‘Lgﬂu!é..g Tl éuié‘: ()
117-222-A-35000



- Roli No. 1| | | St beD

Biology S.S.C (10™)-A-2022 g rd
Paper : II Group : II Objective u’:/ I/»:v:f | II: 24
Time : 15 Minutes (iii) 22 15 &y
Marks : 12 PaperCode |7 | 4 |6 6 swé —G),—JJ— e

-é}/;@‘j&ﬁhﬂjbg}fl&/Lyllwﬂc_gﬂudbi2,)&V£dl//:4(éb’(}l£-w£2,JD 1 C.B. A &Qlﬁj/%LJIr‘/z Ly
¥ L.Uylj:’uf Ay J s 4;/’ <6 ir /;)/ Ul ekl

Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A Jil.»)

Q1 Questions /= Uiy A B c D
1. - 8n pH 8JAYZ | 1.3 3-6 6-9 10 - 13
pH of acid rain is:
2. “q..dnz’.»éldnwﬁmr"j;u"f /‘L:,G:fl/. A il Y
In which vegetative propagation occurs by leaves? | Bryophylium Potatoes Onions Mint
(0
o . ?u\, y
3. O Stk | O 5 < #) vt
Altemative forms of a gene are called: Loci type Alleles Traits
& 7" 5
_éﬁjﬂb’ﬁ”’/:{}\fnlauﬁw iry g% S s Sl
4. | One of the given is the biotic component of rs Light Air Water
ecosystem. g @
d) .
5, so bt it Lokl 3 Uk S 11184 K
In which part of neuron cell nucleus i sent? Dendrites Axons Cell body Schwann cells
6 _Jc{)ﬁ%i’)’u"}f‘f 2 e "ﬁ»‘j"‘i o7 Y. L -l
The filtrate present in renal tubules is called s \ﬁlood Filtrate Urea Urine
i LY
kY
7. SOk 4 UJWL 6“4 14 22 24 26
How many bones make our skull? P %
8 3 el on | chd’l JC‘/ S Sl ki
The drugs used to reduce pain are known as: ; Analgesics‘zb Antiseptics Antibiotics sedatives
9. ?uialn[}a’;‘u.iuﬁall,m 1 L. ‘::,a 2 3 4
How many bronchi are there in the air passageway? 1A
10. Sl il | 972 11974 1976 1978
Scientists prepared insulin in; , : oy _
11 -2 BT WA T L/ ki ¢
The male reproductive part of flower is: Calyx Corolla Androecium Gynoecium
12, _L,L?é(f:abﬁf'é—/'}x/,;l[_y/rs/ (35’1' M Al .?/lfr.'.’
Locations of genes on chromosomes are known as: Laci Alleles Genatype Phenotype |

191R 299 A FEONN 2T I A



Biology S.8.C (10*)-A-2022 . o I£L
Time  : 1:45 Hours Group : 11 Paper (D 24 '/»1..,-4/ SPLE =i
Marks : 48 Subjective (¥ Seot Gy a8: S

Notei- Section B is compulsory. Attempt any two (2) questions from Section C.

(SECTION-B ,».»)
(5x2=10)

& cp{.lﬁ[_u:’lr‘u :_chgﬂf’r,i-‘c.u')l)(» RN

2. Write short answers to any five parts.

Pl P Linbleds 2

: J = b

i.  What are the iptercostal muscles? NSO IS ) A S I
ii. Whatis Emphysema? tebrledd i
iii. Whatis the role of mucous present in nasal cavity? ?+y;l;/KJﬁuﬁL§':y!J/; i

iv. Define Osmosis? _éif.gﬁéf//;l v
v. Define Hydrophytes and give an example. -zi‘;db.{rmzéqﬁéfuuz_;g v
vi. Whatis myelin sheath? ?44)’;"‘5’0% Vi
vii.  Write two basic functions of spinal cord. -é;,?dw:u,gwimj‘ﬂu Vi
viii. What is Neuron? Sebrllols  viii
3. Write short answers to any five parts. (5x2=10) -é{ Al /5’; Ldﬂékc_{}f 23
i. Define Tendon. -éqf"éuu i
ii. Whatis meant by extensor muscle? fe sl l_/c_d/ '-‘ T
iii. Define Dormancy. @ ,c’é.ﬂ;/“"do'?/l; it
iv. What is Micropyle? @Q ‘.’c‘__(/Jgu'?b v
v. Define Homozygous Genotype. 4 {@ % . _éébgﬁ&,/vi:‘fg?urn RY
vi. Write scientific name of pea plant. @% ,érw’rbb’:_,gik Vi
vii. Define Co-dominance. % ,Lfé#ﬁéﬁ»’ £ vii
vii.  Differentiate between monohybrid and dihybrid cro @ ,éd)u:u‘lfﬁ/’wlﬁ #3Ay i
4. Write short answers to any five parts. &@ﬂo) _:"_ég ez L,Imégz,‘}f 4
i. Define Symbiosis and write the name o types. _é‘rbé_(l}l»é’lméqﬁ&j‘/:ldf Jd
il.  Write two effects of acid rain. \ _Lioal?I:)LJ,LQI)E i
iii.  Write the symptoms of dengue fever. ,at“.;wéuéf-; il
iv.  Differentiate between biotic and abiotic components of an ecosystem. _éd}gﬂszwalJﬁLLﬁ”/ﬂ v
v.  Write the function of Thymosin hormone. -érwumu/w RY
vi. Define Single Cell Protein. Eg LS i
vii.  What types of drugs are obtained from animals? wz&,&dd‘mwéﬁ]fau,,)p Vil
viii. What is meant by social stigma? ?‘;Jgft’bﬁ’jr Vil
(UAILy )y
SECTION - C (Each question carries nine 09 Marks)
5. (a) Whatis kidney failure? Explain any one (1+4) .éwb;é@ﬁﬂ);ﬁ&éﬁgﬁéc‘:&n ¥ o/ (D) 5
method of its treatment. ’
" (b) Define Cartilage and describe its types. (143) _iug(ﬁs&f,»éq;éégﬁ ()
6. (a) Write a note an peripheral nervous system. (s) -é&}/,("’-/d;/'djif_; (@) 6
(b) Explain any four methods of natural vegetative propagation.  (4) -éi:(‘jhé_‘_)/!,aéféuzéu,fé&;&d {oge)
7. (a) Define Fermentation and describe the types (1+2+2) _é‘éu_@(’wdﬁ)q)gwK/‘_'z:‘g\.yﬁéu.}?) (M) .7
of carbohydrate fermentation.
(b) Describe the mode of action of vaccines. @ _éu_@,:‘j/u-/ﬂ’éﬁ"{) (&)
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Paper :1I
Time

Marks : 12

: 15 Minutes

GlToup 1
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RollNo. | |

|

||

I (/' z”“uu.g-i)

S$.8.C (Part-1I)-A-2021

Objective u‘ > g 7:)' o:

PaperCode | 7

4

6|1

&L"‘.’! 12 :

&€l
24
I
A

< 15 ¢

) A Lu‘ﬂfa bl ‘b[—yiﬁ e netSosibE. ’4_—:&(«Ldb’ /MQVQIZ ..u!.i'q—:D # C,B,AcHL P Jhé—d')’ n =S

Note: -You have four choices for

K118 B AguS Lo §L TS ML S B D Ioslient
each objective type question as A, B, C and D. The choice which you think Is correct; fill that circle in front of that

question number In your gnswer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=il A B c D |
4 _q,é‘(’ 1744)(5 J’ 8y o Lk gﬁr;u; J ;C: |
Bronchitis may be caysed by: bacteria yeast plasmodium ascaris
e dnlbrdas/3U
2. 2cm 4cm 6em 10cm
The thickness of human kidney is:
AE 12 L S 2 (U
3. 31 16 12 10
Pairs of cranial nerves arise from human brain are:
i R ATS ST N S A@ 8174 ]
s ( .
All of these are hormgnes except: insulin (\ OQ yroxin glucagon pepsinogen
/ \
2 5
” -4—(.'):.'(57.4—,/6,/’ P ?ﬁ%&\v e i il
The longest bone in olr body is: ‘\ﬂﬁb\(ggh stapes alna arm
V@R -
" ey #q.-b'/u“ff),é/(]}}‘;! L@b Uyd/{t Ji 9532 (f‘:JBJIg
. AN\ OV
Rhizopus reproduces Fasexually by: binary fission budding endospore | spore formation
AL FOF il S 4
7. | Hydrogen bonds presTnt betweén adenine and 1 2 3 4
thymine are:
> 4 3
_wa{fablbéj.u:léyrnf * SsS oS J
8.
The locations of genes on chromosomes are called: alleles chromatin loci traits
. ) ] »
S‘q,Uf:ZJ::’Lb’f-/;Q ¢ i g‘.{f !
9.
Which one Is the bioti¢c component of an Ecosystem? soil consumers oxygen water
-4.-&'”;)):’..—61}!/07;(,[7.&(;}&(7«,«? ird 76 A4 J/j,f(ﬁuf}g J.J)J&JK e84
10. When we eat onions, qur trophic level is: primary secondary carnivores producers
consumers consumers
FEeA3u
1. » 1970 » 1975 » 1978 » 1990
Human insulin was prepared in:
S QbES b bl s | Ol LA il o
12.
Which drug is obtalneﬁd from bacteria? Streptomycin Aspirin Morphine Penicillin
A K a2 B 4 ek = _— o 117-221-A-36500 X
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7

V4

-2

Vi
Vi

vili

-3

v

Vi
il

WViii

-4

Vi
Vii

Vil

a, /j/[/ RoliNo.| | | | | |
Biology $.S.C (Part-1l)-A-2021 g
Time  : 1:45 Hours Group: I Paper (ID 24 e .7:/ rus: =
Marks : 48 Subjective 01 SwileGled| 48 :
Note: Section | Is compulsory, Attempt any two questions from section II. _ég ¥4 a‘;‘ﬁ[—c&”b‘”éé’é(}:f»/_q—(! Wilo:nd
(Section -1 (Jil.)
2.  Write short answers td any five parts. (5x2=10) .éé{ 7 .:.W./‘:" L;lxléyc.df
i. What is double Pneunonia? Ce s
il. Define Asthma. Eiba i
lii. Write symptoms of bronchitis. ,4’10 .:Wdu"" G il
iv. What is the size of huran kidney? te eS| [}U! N
v. Write two main parts of renal corpuscle. _éj da?.»zﬁd";b’cﬁu
vi. Define Coordinator with an example. -af:db;:lé.‘gﬁé%ﬂf
vii. Differentiate between ¢ranial and spinal nerve. ,ééu[.;u' )ui‘-;/'J" yuld’y‘ s
vili. Define Mixed Nerve. ,é.:g A §si15
3.  Write short answers tolany five parts. (5x2=10) -é; 4 L'l'ﬂéyééf
i. Define Endoskeleton. Ey v G‘f‘i’p sk
ii. Define Cartilage and write the name of its two types. ,é’fgffé(@»dwméq/d/ wlls i
iii. How does reproductior) occur in planaria? Q 2 ‘-"4-6:74/0”5’4-/%%
iv. Define Gametophyte Generation. N \Or@ -é...g,!/"'é/ﬁ/:f’b}:if i
v. Define Homologous Chromosomes. %@ -éifoj A8 prrs S J( iry .
vi. What is meant by Hompzygous Genotype? %@ (S P P ] JG;J:’::'
vii. Define Monohybrid Crdss. @ -cf.f..g Y4 Sty iy
viii. Differentiate between gene and alleles. O@ -éé’)d}uzdg»’fl
4. Write short answers togfny five parts. K (5x2=10) _ég V4 n:aul} L»!xléyc,éf
i. Define Population and Community.{ ,éqﬁ&?nfm‘ﬂ{g
il. What are Ectoparasites? Give ain~example -é',dw..guyf U ,_«,}gl
ili. Define Symbiosis. ,é..gﬁdu“/;lu( i
iv. Write the definition of commensalism. _é'.:gﬁdr%’u‘f i
v. Define Genetic Enginegring. R P (T
vi. Write any two uses of Ethanol. .éﬂd =W 107 L U5
vii. Differentiate between Narcotics and Hallucinogens. _é:édju‘f- I JJ'Lfé ik
vill. What are antibiotics? ?wmfé :.fb(ffl
Section — 11 #5..2
Elach question carries Nine mﬁm ALy 4
5. (a) Describe function of kidney. ' -Zi{u_(,.d’s ¥/ ()

(b) What is Antagonism

6. (a) Define and explain R

? Explain with the help of an

=

eflex Arc.

(b) Write a note on AIDS.
7. (a) Write a note on resistance against antibiotics.

(b) What is Fermentation? Describe fermented food.

PP
gy
r——-r__

Fele e selr ity (O

POE®)
B idsetipond Lad

AN ATA R IR R
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Biology S..C (Part-1)-A-2021 392l
Paper :1I Group : I1 Objective {f;/’ f/”:v:f I: g4
Time : 15 Minutes D 2 15: oJ)
Marks : 12 PaperCode |7 |4 |6 2 | Swi-42-2) 12: 4

s A BN L 2 e e isibd esitbd iy n4Q¥ Y% L E 2D 51 CB AL WLy ;s 2d
N Ny'ﬁuflﬁ‘}:éu‘él—f 4/ u‘a’kL—/ zIUJ/'bka'(—-yg

Note: -You have four choices ffor each objective type question as A, B, C and D. The cholce which you think is correct, fill that circle in front of that

question number In your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=iy A B C D
busre DSl | ¢ A8 bl il
1. In the developing clontries smoking rate is 43% 34% 4.3% 3.4%
rising by per|year.
| , el st
‘ ; 2 3 4 5
In human, urine form#tion takes place in ___steps|
; du'd"'g/ﬁup &U‘;;,Ul,ﬂu'd"yqlmﬁ
| ) 3
| 3 'da’,‘f,”_ o 2 /% (Q\ 4 5
| ;
| At the point where a gpinal nerve arises from the /\\/ L
! spinal cord, there are roots of spinal nerves. A S
F ) o \\\/ " }‘
el | U % o) R 53 VLS
4,
Insulin Is produced injthe: hmqtn@us pituitary liver pancreas
o dbld P il s | GRTts | Litlelred | Lesets &
5. q
Hip joint is an examplg of joint. A\ § > immoveable |slightly moveable moveable hinge
AE P av e L 9/
8. | About____ % of the tdtal aduit 0.1 1.0 2.0 10
infected by HIV.
AL B Lt S s LS U .
o)&/éff.
. Hydrogen bonds are present between adenine 2 3 4 Vi
and thymine are: y
YT S S 0 PN RV ) 9 RN 85 £ i Y
- *Je a) J
8. ; ' e
Guanine of one nucled tld'e always forms pair Thgmine Gitrsaine Guanine Uracil
with the of opposing nucleotide.
R I B P sl ikl | psisd il Bl b
0. Intraspecific interactioT is between the same species same different different
members of: population species population
% ‘-‘q.l/'fmjﬂ,g_fb’ﬁ'/fl i 434 ird” J/»‘}ﬁ L.ﬁ{T
10. Which is the abiotic component of the producers consumers herbivores oxygen
|
| ecosystem?
. e esbbdad Pt 5| s S ¥ Pk 2
| Name of the yeast, usefl in fermentation is: Streptococcus Lactobacillus | Saccharomyces Aspergillus
2 - Qb by n Ui ety LA o2 oy S L
|
‘ :
| Which of the given drug is obtained from plants? Aspirin pi Cephalosporin Insulin

\
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Biology
Time  : 1:45 Hours Group : IT
Marks : 48

S.8.C (Part-Il)-A-2021

Paper (ID 24

Subjective (1 _Swi-G2-2y 48 : A

Roll No. |

(S 38 dsiel)

&Ll
&1us: o

1/ 7’/

Note: Section|is compuisory.

vii.

vili.

5.

. (a)

Attempt any two questions from section II.

_44 F el L@ﬂlm;".éfa-u‘-'-(»/ -¢-Siileisd

(Section—1 il#)

funoec Af frarlvebhy rrdemém € v o b &1

Write short answers to|any five parts. (5x2=10) _é_/_ ez F L g &:.Gi’ -2
Write two bad effects of smoking. _é Mz n L By |
. Why larynx is called vdice box? Co-bblf U L/L-g/’bfué 2 i
iii. What is Bronchitis? Wrjte its two symptoms. ,zéj.-.w » Jul‘.‘q_yg/{'ﬁu. i
+ Write down the length and width of human kidney. 2 ROV E s/ BV iy
Describe two parts of rjnal corpuscle. -éu_t;&»é:d"/((f:; v
. Define Effectors and giye two examples. Z :ufb- » sl zifd, A 45//’8{ Vi
ii. What s the difference Hetween sensory and motor neurons? SOV Iy wliLgS A il
. Write down the functionls of Temporal Lobe. &, ZISL It il
Write short answers to any five parts. (5x2=10) ¢ .é{ Falizn ¥ L,hﬂé&:,él -3
Differentiate between Hyaline and Elastic Cartilage. Q@é J )u:egg,ts_ﬁwru‘.’ ki
- What is Antagonism? @ ?Lﬂ.é;(:frife},i i
- Differentiate between agexual and sexual reproduction. & @\O & B} B 547 yyg + i) ~ <! i
What is Cross Pollination? 4 fe lf sz!’d 1/ v
Define Chromatin. Q -éuj A §HS v
. Differentiate between ddminant and recessive allggg@ } -é J)U:L}-{I ,,_:%J B A8 i
ii. Define Mendel's Law of |ndependent Assortm\e\n@\/ ? _é_.y A J&};rt&gd}laméq}r vii
. What are loci? . i SLLdKS il
Write short answers to aty five pa (x2=10ff. b‘r‘f" -éég iz L,bﬂéga.[}f 4
Define Ecosystem. Qg) E‘:"* o “”’L‘;{‘L? _éq: A Jf"‘/ A
- What are interspecific intferactions in ecosystem? rmxnm U .-,wv@:: P £ i
iii. What are Omnivores? r__—. LY Ll s i
Define Trophic Level. -ééq A 6dﬂ.u¢5/l/' Jdv
Define Genetic Engineer|ng. m -&{q A8L P4 Lo v
. Define Biotechnology. c Ey AEGHLL i
Write names of two narcatics derived from poppy. -Eﬁo (L'Lué Tk dbdn S’ beary il
What is social stigma facTLd by addicts? LSS S P V¢ gf ¥ viii
~ Section —I1 ne
Eagh question carrles Nine marks.  (4+5=9)  _¢ AIL iy 4
(a) Describe the process df selective re-absorption in the kidneys. -é’f 4‘)."3 J’ b‘u%;lm-d; ;Q’ Sun/ W) s
(b) Explain antagonism in fnuscles action _zévb‘;drif@,luﬁd’; LF LS, ».5" dlﬁ-du‘: (3!/’»!&: GL (&)
selecting biceps and triceps as example.
(a) Describe the structure bf Neuron. -aéuy..;swum (W) .6
(b) What is meant by Gernjination of seed? Ees Ls;&f-?f z d""-"éwd”-:gfl?c;,,v Vs ‘_u‘/:‘f 288 (&)
Explain the epigeal and hypogeal germination.
Explain the mode of action of vaccines in detail. _qu!_f.auwu;:é{ VP s rb’L%-(: & .7
(b) Define Fermentation anld explain two basic ,éuwd(l}'fd;gq 1 dﬂy )J.*z_;}guzl(utéq /7(5‘?? A )



Roll No. Annual 2ZUZ0

Biology (POt Al k) - (1) G
Paper : II (Group:1I) 'SWL.-[D-Q,_ 1o (,,,)ng) IT 1oy
Marks : 12 Objective (5%7) 12 : /7
Time : 15 Minutes Code : 7461 <15 12

/f:_.;j_"'rL/Ci.[s?bjw‘&.‘UV&_.al:?;/»c.'p’:u;)’béfé.)&irédfr/;{‘éﬁ}fﬁ _‘,_.'72;:2:.,' D.sC,BA @l_.‘ﬁ;'o;/.l’uid';’/: Ly
-b’nﬂ‘;’w\flﬁ uygg;fc«u‘d/i./zf.f,{ Lg‘..///:.ybﬁfbu_l!/';u_ﬁ ey
Note'- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result no mark.

1. 1. The process of inhaling oxygen and exhaling carbon dioxide - if:(tf LIS T &S T 21 A

is called:
anaerobic respiration /% (F Ll (B) aerobic respiration T Lyl (A)
respiration S (D) gaseous exchange J}?Kuﬂ‘(/ (C)
2. Secretion of rubber plant is called: _c‘-suff;f.?/dbi.ﬂ(yzl&a.ﬁ;&,‘/./ B
latex J@ (D) resins rzs (C) mucilage é%:: (B) gums /f) (A)
3. Which one of the following decreases the concentration of glucose in blood? . ,4‘,8,",1;9,‘;,&,’,(,&0} =3

calcitonin cf‘iu‘l‘r (D) testosteron s+ (C) insulin g2 (B)  glucagon ¥ (A)
ﬁé@égﬁiﬁﬂﬁffw@twg 4
nervous 3 (D)  electrical J{i & (C) mechani @f (B) chemical < (A)
0@@?

4. Which types of coordination is found in plants?

5. The celis of cartilage are called: -u_?Z_lk/ﬁ-’Lé)E’ -5

o 4 Q_b

chondrocytes Skl @- osteocytes Ul (A)
osteoclats u“'w’;:é@ (D) collagen oaddsS (C)
<o

4 --vgz,{fufKﬁJri,-;gt -6
mens 7 (C)  carle Q¥ (B) . anther A (A)

6. The units of androecium are called.

sepals 4 (D

7. Specific combination of genes in an ir{d\i\)idual is__c;la,ll,ed:\"g s m@%ﬁ&ﬁmu&:ﬁg <7
genotype e & (B) L phenotype .{’L‘ié’ (A)
heterozygous U,_C";%'Z‘ w@h‘}f ° . homozygous u"g’!;m {C)

~ 8. Number of hydrogen bonds between adenine ahd fh%ine is: ‘,‘a(}miﬂéj,ﬁgu’-ufv"yuyuéuﬁél; s Lh 8
two » (D) four s (C): "” f‘.'i one £ (B) three £ (A)

9. Total amount of living matter in an ecosystem at o ) -‘;..GLL/;L&J{&L?LM; )ﬁruf&suguﬁ(‘" % L -9

any time is called: Tk, JEE ooy

Foodweb w<s3# (D) Foodchain o#i# (C) ‘Energy™” Gt (B)  Biomass UtZL (A)
10. Symbiosis in which both partners get benefit is: ST J I ETIETUAN 10

competition J“w’b{ (D)  predation ¢2is (C) mutualism (A4 (B)  parasitism ez (A)

11. Treatment through genes is called: e bl B led L 2 A
Genetherapy Q;}U’L‘-’ (B) Chemotherapy gél/?rf.( (A)
Physiotherapy Ql/;}, 7 (D) Radiotherapy & dy ks (C)

12. Antibiotics inhibit or kill: . g L i L2

yeast fez (D) bacteria fiZ& (C) /viruses oty (B) worms s (A)



Biology

Paper : II {Group:1)
Marks : 48

Time : 1:45 Hours

( (ol « IT aail) 54"
SWL-10-G-20

Subjective (den 48 ; s

(/i) T 3y

2{ 1:45 @ =%
_é};al,fiﬁ.:,mr ”» c-dfc—&r’»/—%d)lﬁdﬂ.‘.& Wy

Note : Section I is compulsory. Attempt any Two questions from Section II.
(Section - I Jil.%)

2 Write short answers to any Five Parts :

i. Differentiate between breathing and respiration.

i. What is the function of stomata in the leaves of plants?

ili. Define Bronchioles.
iv. Differentiate between dew and guttation?

v. Define Transpiration.

vi. Define Nerve and write the name of its two types.

vii. What is Brain Stem{
viii. Define Exocrine'Glands. ¥ 3
: o
3. Write short answers'{o any Five Parts :
i. What is’fur‘ictioﬁ of vertebral, dolumn?
i Differentiaté between Bicéps and Triceps.
iii. Define Budding wuth an exampie.
iv. What is@ndroecium and give its units?
(/ WHat is translatibn in DNA? |
vi.- Give any two reasons that, why did Mendel|
l'\ " select pea plant for his experiments?
vii. Define Theory of Special Creation.

viii. D'éﬁne Law of Segregation.

O
]
=
o
L]
m
Q
o]
7
~
(2]
—
(]
3
g
)
2
o

ii. What are Ecological Pyram e
ii. Define Predation and give an example

iv. How does smog form? W;Re its effects.

v. What is meant by Genetic Engineering’?‘k

vi. Write the use of following:

A6

vii. Define Hallucinogens and give two examples.

Urokinase Enzyme

viii. What is meant by Pharmacology?

WrtteQIfs two types

Sz ALl 8 -2
LWt R S
e ¥y Kl‘»r‘fu‘!gfﬁum’ i
L& 5 i
ot w7
Sl v
LSy sl ZE P8 v i
S Ve il
&y fEE AL i
Szl 8 3
S 2 i
et/ el o ol i

@ LG S S i
te- KU e U -y

"r_ﬂ/t/c-u’pf/'u’ DNA -v
Lfc.fd.dﬂfé./fvyfs . 5\)}/ Vi

(5x2=10)

{5x2=10)

E S PLIESS i
S S i
Szl iz -4
-é)u»t‘/ T J(‘/’{lu/,d c‘Lu‘/’(f(‘/}{‘ 4
AN R AV~ T i
il o PSR i
il S Fl S v
8‘9.;/L[;J¢,’r“f-‘1;_@’? v
_E e e i
gk 3¢ ()
Ea S o i FS Ak i
StV GG vii

Thymosin Harmone

( Section - II_¢» )

(Each question carries Nine marks (4+56=19 ) A 3 L)

5. (a) Write note on hydrophytes and xerophytes.

(b} Write note on midbrain and hindbrain.

6. (a) What are Ligaments and Tandons and what function

do they perform?

ey o U (@) <5
-FLG.‘J/_; 4Ky sl f 24 (D)
(vgl:_.)rlfydlﬁﬂf'/ 241 u_’:’z.)fgr;/.i'i:{: 23! J‘l"‘(l (a) -6

(b) Write about any five ways of Natural Vegetative Propagation B UL P L & u’“‘-”;x:ﬂf JEU Jm (b)

of plants.

7. (a) What is Fermenter? Explain patch and continuous Fermentation. _r_ °Ln¢,,(u"'" /J’V mivz.u,h “4_ Lf )f"/ (a) -7

(b) Define Vaccines. Describe the mode of action of Vaccines

JE c}_l_g.‘iﬁ_.)”é"'.,/rlfgjfgf -ébg/’o;zg; (b)

447 - 2720 - 29000
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Biology (ot I AL - (IV) G
Paper : II (Group:1II) SNL-10-Cpy 10 (YIPHEE | Y,
Marks : 12 Objective ((%2") 12 = /-‘
Time : 15 Minutes Code : 7468 e 15 1o

A/’.{c.u}_l;/Cl:r;;').'ili‘;},’UVLb,’:?_'/ur'_ufu;_?bc"’:(:—)&‘.[/[.dir/:,;db/db? -ujéé_: D.sC, BA &l:"?;«?/k!id’}ff‘ ik
= f}f/y‘?bh’...« 12 u):i&."«./_r’d':'._ f/’/f = KLL/CJU;}J»:& ic. .J_,/l ~E2
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circie in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result no mark.

1. 1. The drugs used to reduce pain are: —rebsidnd S .1 A

vaccines ;a*"% (D) antibiotics | .'fg;}"ii (C) analgesics u’c:’_}:l (B) sedalives J%s- (A)

2. One of the followings is an antiviral protein: -e'df!{ (FZ 1) bf}b[sij."ﬂ eyl 22
interferon 1251 (D)  urokinase %y (C)  thymosin  wrd@  (B) insulin waei (A)

3. When Rabbit eats mustard plant, its trophic level will be -6/34;)2_45/;)b’bfi?;htiﬁ;gb’u,;zjﬁ.a -3
primary consumers 2/1)925/[; (B) primary carnivores P T /L; (A)
primary producers )/,gf-;{d /l{ o) secondary consumers )/{7’/6}):—? (C)

4. The change of nitrogen gas into nitrates is called: tJ:f/t;fJ:gt,tJE}'L' Ku'fd‘-_s/ft -4
nitrification u%‘&’/d/"t (B) nitrﬁixa ion w"g J, Al (A)

ammonification f"c"l (D) o {&%?enitriﬁcalion u‘f%,’/w; (€)

5. Transcription is carried out by: @% ?4‘;3?L§l,!ui‘d"aj_/5£ujﬁpi) -5
chromatids L/ (D) DNA uw@@ ribosomes vy (B) mRNA £ (A)

<& _c‘_,di."}‘;f;f;‘k;_i-/ -6

S (B " blood group A s Sl A)

5

5. An example of co-dominance is:

blood gr

blood group O .._.:)fﬂ;; ' (D)\ blood group AB .;5/14 {C)
7. The material containing sperm and fluid ié"daiied: ad —e b ,,,,UL?“;,;)LZ g T
R N
plasma Lk (D) seru;n (/5 (C) ;{, semer'f ot (B) secretion ;?-5,./ (A)
8. Appendicular skeleton is composed of bones: ‘ & {_ ' - : -bga_nugéui’yy’%'yf,‘gl .8
126 (D) 300 (C) - 5 lk :_:f;_é‘()s“ (B) 80 (A)
9. The unit of nervous system is: ’ . -I_iv_‘._;#‘\ ) -98('1,(("1,6/' ~9
nephron (& (D) neuron s (C) \ﬁa[\ve :.f (B) receptor % (A)
10. The middle layer of human eye is: | _“-,,;J y;;d;"/fdw .10
choroid ¥4 (D) retina s (C) comea L (B) sclera 1 £~ (A)
11 The tube between kidney and urinary bladder is: ~cUteend stk z sy o s/ 1
renal tubule Jys (D) nephron ¢k {C) urethra !,55,-,1’ (B) ureter sz (A)
12. A respiratory system disorder involving the breakdown -(,L?Jlg.:}u_;lg,J&tép&!u:u’-djtgugf("’ Sk o 12
of alveoli is:
bronchitis u)"/hﬁ'u. (D) pneumonia ,-/' {C) err}physemq U:u"ﬁl (B) asthma .., (A)

cp

7 449 9N 1aQanNnnn Ay As s,



Biology (Ul <11 LASikE)
Paper : II (Group:II) SWL-[O-G»—»
Marks : 48 Subjective (&)
Time : 1:45 Hours

V.

vi

Vil.

viii.

Vi
vil.

viii.

vi.
Vil

viil.

5. (a)
(b)
6. (a)
(b)
7. (a)

(b)

Lo
o

N
LS ol

(oofip) T gy
a8 :

145

-.’_é;f.:«l,lﬁﬁoufr » c‘..(jfc..u'-'ru/’.c"..dﬂuﬂ;o O
Note : Section I is compulsory. Attempt any Two questions from Section II.

Explain male reprodqctive system in Rabbit.
Exptain following:

(i) Alcoholic Fermentation

(if) Lactic acid Fermentation

Explain sources of medicinal drugs.

(Section - I Jil.20)
Write short answers to any Five Parts : (5x2=10) wé}u‘kuzj‘iféi'z‘ék&&; <2
. What are intercostal muscles? s i
. What is pleural membrane? Wiite its function. P s o Aok i
i. Give difference between acute bronchitis and chronic bronchitis. EPLT S s Sk i
. What is Hilus? ’ ?g‘—.y",rﬂg -iv
How does skin control human body temperature? ?T—J/dz/".:r&ﬂ].?})éf 2duig b _v
What is the contribution of Ali Ibn-e-Isa in Biology? ?L,gptﬁgb/d’fu’.u}‘ufd)fg -vi
What is goitre? Write its cause. el Se A _vi
Define Stimulus. u.’-’i‘._g,;JJZ" - Viii
Write short answers to any Five Parts : (6x2=10) -zf:;aux/i"érlznég;;jf =
What are joints? . % T‘u}\_f‘,f”" B o
i. Write two causes of gsteo-arthritis. @@ B ers w ST AR i
i, Define Parthenogenesis. | OCQ) _afby/‘?(}’u‘—’fx“;g _iii
. Write the names of reproductive whorls of flower. 0&%@ -Zﬂftéur‘ﬂjy?&dgﬁ -iv
. What is translation? %@ e f—“’?} v
Differentiate between monohybrid and dihybrid @ A&?ﬁﬁuﬁurﬂﬁgéi; 3l 5/:"5:"1. -vi
What is co-dominance? O fe Vs Lvii
Define Gene Flow. A\\\ 2 w8 BE v
Write short answers to any ( 5x2=10) _Z‘i;;é,glﬁ/‘?ﬁrleékc,df .4
i. What is meant by producers? Give one example. fé’;“;dt"_ﬁ/l ?C;'.)l/t[(c_-/;/z_'ﬁ/’ il
. Define Community with an example. &, .éfJ&iv!@.quﬁ" i
iii. Define Biotic components of Ecosystem and give an example. S s EE ;J'IZIJEQL(”’ £ i
. What is meant by Biogeochemical cycle? ?‘_:_:I/L_f;—.f Lf»jé‘fr.?f L oiv
. What is Fermenter? ?.;,_J}?) -V
Define Single Cell Protein. & 4'/70/@5‘3{;)-"){1’ Vi
Define drug and name one synthetic drug. g rt&’.ﬁ;d’:‘ bl ot 25 A0S i
What are Antibiotics? Give one example. “Za ol Sy LG i
| (Section -II ¢ )
(Each question carries Nine marks (4+5=9) .g/ s [.dfr/:)
Discuss the function of kidney in detail. ke P S (@) 5
Explain peripheral nervous system. S, &’u’kauG/Q,ﬂ,& (b)
Explain types of joints in human skeleton. -{;{QDJJ/KQIJJ‘; ¥ u?}&t}! (a) -€

Sl e ALUA7 (b)
_.’»;.fyus;;g)_}@» (a) -7
HHH )
S G

o ST el (b)
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Biology (Aot « I 2ASad)- (1)

Paper:1l  (Group:I ) ( Academic Session 2017 - 2019 ) (o fig) I 4
Marks : 12 Objective gu:;g:z 12 /
Time : 15 Minutes Code :.7461 @ 151 =3

S o IS 3Ol e na S s s L Jirs g QK2 -SLiDHC BA Uzl g
-b’xujwu_,lﬁu.&d:&u‘lfi-/.ifr&(L.L):J(u:/'bvki:—J-:' ot
Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
_fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more

circles will result in zero mark in that question.

The acute bronchitis usually lasts about

g;/"ré‘-cu < J)(UJ'."G':/. _‘at.r' I

four weeks sk (D) three weeks Z.f  (C) twoweeks Zi (B) oneweek il (A)

N

excreted by rubber plants?

mucilage é";: (D) resins (C)

j'{z

3 The followings are all hormones except

Which types of waste materials are“

?‘jjz_-ftwu (_.Jh(’?.;-u)f‘_:{ Ly, 2

latex J@

ity ot wrhebtie -3

gums y" (A)

(8)

insuiin w21 (D) thyroxin oL J¥ (C) pepsinogen J‘-KB) glucagon uf¥¥ (A)

4. Which hormone develops the male secondary sex characters?

estrogen (/1% (D) progestrone s iy (C) testo
5. The number of pair of ribs in human are

12 (D)

. S

6 The ripened overy is called

sperm 4 (D) v (C)
7. To attract fliies and birds j function of
stamen «° (D) anther /Y% (C)
8, The punpetl square is also called
checker board §974 )-:3 (B)
mendel board S, Jar (D)
9. Darwin published his book on natural selection in
., 1860 A.D (D) . 1859 AD (C)

10. Utilization of nitrates by organisms is called

ammonification (D) denitrification (C)

11. The micro-organism used for the production of formic acid is

sacchromyces ;(ﬂ,/? (D) aspergillus u‘?’,(-l (C)
Which one of the following drugs is obtained from plants?
morphine J-s/&

streptomycin g-,c’l”sk (D) (C)

< _
A\
10

) /_f/_)’ J—a d;;? 7 Wr vl -4

O

Gpos  (B)  insulin B (A)
Sl us Syl 5

(B) 9 (A)
-4—8&{ Sl =% -6

egg v 2l (B) seed E A
P VAN i GOV I Ut 7

petat. J% (B) sepal (A
e L L o8

score board 5.4 S (A)

genetic board 38 S (C)

S e LT G gty BB Lot 29

» 1858 AD (B) + 1857 AD (A)

—e bl S K Ui 210
nitrification (B) assimilation (A)
e p AL et &L s LG 11
Jusse bacilus 4% (A)

"q.abd’\)‘bc. J0g 10 UJ:’(G'-'L/:L}J/ =12

E.Coli (8)

insulin 21 (B) aspirin o 4¥  (A)

117 - 219 - 29000 Y
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Biology (s« I s Sa2£) o
Paper : 11 (Group : 1) ( Academic Session 2017 - 2019 ) (.,,/ug) (r: z¢..
Marks : 48 ' Subjective w0 48 :
Time : 1 : 45 Hours &1 :45: 0

ezl iy Qe e e Giudie oS

Note : Section I is compulsory. Attempt any Two questions from Section 1.

Section - | (Jjl )

2. Write short answers to any Five Parts : (5x2=10) -Zﬁ'la&'ﬁlﬂé:r‘z‘ékééf -2
I. What is meant by cellular respiration? ?q_;yl;fc, Jfﬁ-z A
i. Write two functions of nasal cavity. S Ui LS JE i
ii. Differentiate between acute and chronic bronchitis. O S LS <k i
iv. Differentiate between transpiration and gutation. -;—.’_..’:J)u: J’-’“r 2! gﬁ/’;;f'/' ~iv
v. Write the names of two parts of renal corpuscle. | | -é’(t.f;uﬁ’ 1 LSk v
vi Define reflex arc. ) LT ‘I_CW.J _vi
vii. What is diabetes mellitus? Write its cause. 2.y gy T‘:,‘-k_fu’;fu./)‘o g3 vl
vili. What is meant by myopia? Sesl e Lol ol -viii
3 Write short answers to any Five Parts : (5x2=10) <}/ -a‘:u.-,yuzi‘z..rz:éga-df -3
I. What is rheumatoid arthritis ? Write its two symptoms, @ el S *?:;-y’ﬂ/‘ﬂ Velgs i
ii. Define the term parthenogenesis and also give an examplé.%%o JESUe gy Ju"'"'?:.""ik -ii
i, What is meant by caliuses? % Sy Ve o il

iv. Whatis meant by external fertilization? In which d

ccur? ?g_éﬁu:d; ‘f;.ﬂ/t_/c.. J*-'/’u_«') J}r{r -V

v. What is meant by incomplete dominance. Als its example. -Zsiedun Sty Yo S J’it -V
vi. What is the role of skeletal system? O fe M) V¥ ("/ J”g’ ~Vi
vii. What do you mean by traits? Gi o examples. -’.{:;.ﬂ& ) d;l S sly Ve S i
viii. Differentiate between mon and dihybrid cross. ..."lj&/" e dlfi,rr’g JU 2! 5;’;:";* ~viii
4. Write short answers to any Five Parts: (5x2=10) -Z::.-.U:‘!/‘:’Lolzl&ga_af -4
i Define food chain and give an example. L& é.g/’ B s i
ii. What is meant by Biomass? SV UL L i
iii. What is meant by consumers? Write its two types. e.(’:flﬁt »f S il Ve i il
iv. Write two uses of fermentation. A Y L‘f-"‘f/ -iv
v. Whatis single cell protein? How is it produced? fq.f}lﬂjl:‘c_f, ?cl-t;(ué:{ S v
vi. What is meant by vaccine? Who produced it first time. ?Jb.i.g/:‘ukf, Sl Ve u-’-r: -vi
vii. What is meant by hallucinogens? ‘-'«‘c—f’/t_fc- 2 Sk i
viii. Differentiate between antiseptics and disinfectants. S J/ k”t/: g VL Jfﬁ‘/ J':" - Viii

(Section -1l ,_ - g1 =)
(Each question carries Nine ( 5+ 4 =9 ) marks g2 (5+4=9)7 ):.,Jlrgz

- =l - "
S.(a) How is kidney stone formed? Write its symptoms. -’,é‘_/j =ik ff ‘-‘4,.&415%&.:/ (a)-5
(b) Define reflex action. Explain it with the help of e Jiu P ool J -a*i:..y;d/uigl ‘f&v (b)
diagram and example.
I, i PN &

6.(a) Whatis cartilage? Give detail of its three types. ol § U UE S et/ TK (a)-6
(b) Write a detailed note on binary fission? ' -é‘f..*.id’-‘" £ s EA ()
7.(a) Write a note on flow of energy in an ecosystem. L@l LWL L f" £ (a)-7
{b) Explain salient achievements of genetic engineering. ok b N LWy KL 5 Er ()

117 - 219 - 29000



Roll No. o Annual 2019
Biology (U I LAEE)- () Sk
Paper:l0 (Group: 0 ) ( Academic Session 2017 - 2019 ) (-r:f'/") o: 3y
Marks : 12 Objective (%) 12 302
Time : 15 Minutes

Code : 7464
P J:T-_L_ZLL?':W{J&#&Vlﬁ..vuc.gﬂu;/'béé.}&.l/é.gb‘ﬁ/'(é(dlﬁ -u]éé.: D

AP BT R s B S S
Note.- You have four choices for each objective type question as A, B, C and D. The c

@os 15 1 =0
C.BA aWlielJirg s
b’_l,d'..f.é,fu:}buyc_u_f' —~

hoice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more

circles will result in zero mark in that question.

1. 1. To which group aspirin belongs?

Drugs from bacteria  =inf o2/ foa | 25
drugs from minerals

el /P (D)

2. The enzyme which is used to dissolve blood clots is

amylase ZJu (D) urokinase A€ (C)

lipase

?q_é—v:/ JJ”? st <1 A

(B) drugs from animals =Ll e/ e unie (A)

synthetic drugs =l &t (C)

- P &35 S AL sz i 2

}_'vJU (B) ligase /féu (A)

3. The enrichment of nitrates and phosphates in water is called ¢ FUdftl »3lt KU 6 L U240 sl L3, -3

4. The units of inheritance are called

nitrification gﬁ-‘%/“t (D) decompositionu"‘-b:%i (C)Eutrophication @zﬁg

chromatin ¢/»./ (D) genes #=  (C)

&
5. Watson and Crick proposed the model of DNA struc

+ 1854 AD (D) + 18963 A.D

6. The exampie of insect pollinated flower |@Z
hazel J« (D)

7. In flower the whorl of carp!

gynoecium ff-’fcj

) androecium ({-%J:ﬁ';' (C)

8. The hardest connective tissue in the body is

ligament <& (D) cartilage Z;'i&’ )

9. The lobe which receive impulses from skin is

temporal J.£ (D)  occipital

HET (©)

10. Paralysis’s a disease due to disorder in

nervous system ¢~ 5/ (D) liver £

11. During lithotripsy stone is removed by

surgery Sz ®)

non- electrical shock waves J::J t}gﬁ-}?'ut (D)
12. A narrow opening present at the floor of pharynx is called

glottis ¥ (D)

larynx

2 (©

e

(C) endocrine system ¢ /3%

nostril

(8) poliution ({47 (A)
—urQuigY e, 4
GFiy  (B) chromosomes »r»s) (A)
Vs U =3 § DNA &S %1 o s
+1952AD (B) .1951AD (A)
ce U SUALLE Sy il 6
& @
et LE ¢ At JA LT

calyx ¥ (a)

- # )g‘f_-}'ug}c_,.rg:(? -8

rose o W (B) com

corolia

UsS (B)

bone s (B) tendon wir (A)

Oy Jb‘?c_é../d”s el = e g
parietal

Sis ®) frontal %} (A)

e SE6 -10
(B) heart J» (A)
2k - 0edb GAL Y A 1
25 (A)

electrical shock waves g/ & 29 (C)

X - rays

-q._t'l.kfi,br u’:r‘.(j) L uj}_' <12

J#t (B) Trachea .} (A)

118-219- 17000 Wi
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Biology ( ﬂu,}'lf I d.usdaf:?) Sk
Paper: 1 (Group:1I) ( Academic Session 2017 - 2019 ) (v:fl p) (o: .g{)
Marks : 48 Subjective (J&0) a8 :
Time : 1 : 45 Hours &1 .45: 0

| -z'.{.z/’.pu.zé.-.mr (2)»:..&!:.&(».4’.4.6)1&_}:‘ e L

Note : Section I is compulsory. Attempt any Two questions from Section 1I.

2. Write short answers to any Five Parts : (5x2=10) G2 g 8 2
i. What are lenticels? Write their function. Sy Sl DR g M
ii. Differentiate between breathing and respiration. -'4-': Il A J’- L0 J". i
iii. What is pneumonia ? Write its cause. . -2 £ felf LA il
iv. Define Guttation. o S v
v. Write the name of two main organs working for homeostasis. -ﬁ(t yl ﬂ:f' A ::Lt:i_/(( é_.’r J"—"’ 2 NV
vi. Define ganglion. Ly Sukd i
vii. What is meant by stimulus? el Ve e i
viii. Write the names of two hormones produced by ovaries. -zjrt L 2r 0 &ty & zust Lviii
3.  Write short answers to any Five Parts : (§x2=10) -z:,_-.uz/"é.tznégc_éf -3
i. Write down the roles of tendons and ligaments. Q -2,’-:,4/‘:)&3! VS og 7
ii. Define Joint. Write down names of its two types. @ 2ot Le w F o/ § iz i
iii. What is difference between epigeal germination and < SO/ SF2 R S22 S G i
hypogeal germination? O%{&
iv. What are gonads? Write down the names of malﬁg@ et Lol ok 2 plny ixf v
female gonads. @
v. Write down two main objectives of Natio al@ Control Program. e A & rlﬁ4 Jo o4 JY v
vi. What is meant by nucleosomes. “ ?q_,:/gz_ Vid :":c' -vi

vii. Write down two main sources

tions in sexually -éébi % Lol,c’." L /—"{I;dhd.f cf‘fbﬁ.z gﬁrp ~vii

reproducing populations

viii. Differentiate between breeds and cultivars. -a‘f ) - )Jho’b:;l skz -viii
4.  Write short answers to any Five Parts: (5x2=10) -Z::.:«&lz/ﬂﬁ'lzl&g;.&f -4
i. Define Ecosystem. Give an example. U S N £l
ii. Write down four symptoms of Dengue fever. «2{;{/’ =k b P J‘“S i
iii. What is meant by utrophication? fSeily Yo (,f:g‘)d ~iii
iv. Write down the name of basic steps in genetic engineering. e ZLp S £ £ G v
v. What is meant by Novel Protein or minifood? Se s e 33 S0 L higdit v
vi. What are sedatives? Write its two effects. -& .:-'/“ » &1 Sk i
vii. Differentiate between drug and addictive drugs. -z En S} St o7 B ()03 _vii
viii. What is iodine tincture? Write its use. -ZE e fe /{) 3T viii

(Section -1, - (12 )

(Each guestion carries Nine (5 +4 =9 )marks Jt/~7 (5+4 =9) J LJirs)

§. (a) Describe the structure of spinal cord. “ZEylk e SJE’J”Q,’ (a) -5
(b) Describe the function of human kidney. -Z;fwy J” ' :_.:/ (BU'I (b)

6. (a) Describe binary fission with examples. e st 2ol § P .6/"’& (a) -6
(b) Explain in detail movable joints. ok S S Lni ST o)

7. (a) Write five objectives of genetic engineering. Gy f o G LB G2 (a) -7
(b) Write four adverse effects of acid rain. 5 Py N L JA 412 (b)
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Paper:1l  (Group:1) ( Academic Sessions2016 - 2018 ) (¢78g) 1z
Marks : 12 SU} I——‘C'“— lo-(3 Objective S;f_‘)ﬁ! 12 /
Time : 15 Minutes Code : 7465 L 150 =

A 5L /CL!C/":,JG?&szé._.‘xuuc.;ﬂu:ﬂ)é:é.)&védfr;{(éb’d'ﬁ -v_’:”c.’&'-: D.sC,B,A ;,‘Z.‘«G/g[_d'r/z O
-'e':f/)"rhﬁv’.,f:?u):iVC.;«/}‘(,Q./J.‘—KLL/HJU"J::LJ@.—{' 2
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more

circles will result in zero mark in that question.

1. 1. The latest method of vegetative propagation is
layering /2 (D) cloning & ()
2. The cells forming cartilage are called
osteoblast otk s (B)
melenocytes S (D)
3. Inhuman , number of spinal nerve pairs is
31 (D) 33 (C)

4. Myelin sheath is secreated by cells

-Q.@.)U_'}{Agﬂ,}:g’{ = ;j,'} =t 4

graffting &% (B) cutting & (A)
b Kl w2
osteocytes Sl (A)
chondrocytes Sk (C)
-4‘:.3’7)!1;\:/,:.'.8 L;/'J’L,u:du" =3
32 (B) 30 (A)

@@a i STk 22 S 4
<O

red blood X%, (D) white blood 4os0y (C) dendrites 0@5 (B) schwann ¥ (A)

5 Plants store large amount of water in their cells for

Al g 2

. g 13
— X e AT

photosynthesis ;,-f*}} (D) turgidity Jb/‘i ttation u’-‘f (B) transpiration ;4?;'/!/' (A)

6. In cigarette smoke . number of carcino <&
35 (D) )

7. Sir Alexander Flamming was awarded Noble Prize in
- 1960 AD (D) + 1950 A.D (©)

8. Which enzyme is used to desolve blood clots ?

urokinase 'f.’cjb’ug (D) tripson g  (C)
9. Since 1800 AD, the amountof O inreased in
atmosphere is
50% (D) 40% (C)
10.  Alternate forms of a gene are cailed
genotype At 5% (D) loci JK) C)

11. DNA molecule wraped around the protein is
casin J—'r (D) fibrinogen /5 <6

12, The unit of androecium is
ovary

$mi (D) style Je  (©)

(C) haemoglobin ._-,:,gr:-' (B)

stamen

PR BT VA YA

30 (B) 50 (A)
b B i K 7

,1945AD (B) . 1940AD  (A)
P r,_-vl',,;.g_'/"-_/_)' S L P A
pepsin

¥ (B)  lypase szl (A)

e ol I J3X Sfsie 41800 -9

30% B) 20% (A)
- FIMEr B 10
alleles *1 (B) trait <o/ (A)

- :)f:‘.'.' }/z g;}:"{gﬁdf-aL {e.'-,;;'-,".: - 11
histone g+ (A)

&
~e- by LYKk 112

F B
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- fe2 ey Qe e Lo $idizo 25

Note : Section 1 is compulsory. Attempt any Two questions from Section 11.

(Section - | J3l.)

2. Wirite short answers to any Five Parts : (5x2=10) ..’é::..;lz/‘.:’z—"m&gc,éf -2
i. What is the difference between stomata and lenticels? e/ Yl é’.’j ol by i
i. How the voice of our conversation is produced? e dnige BT i
ii. Write the name of two parts of renal corpuscle. -éf(:éur" w LouEE i
iv. Define guttation. -a{_eiw'-' -V
v YWhatis meant by renal tubule? ‘?_c)l/y::.v'f}fu"‘/ -V
vi. How does coordination in unicellular organisms take place? ‘.‘c.-_:lx:__",;"-.u’ﬁ;@fw,ug 'kjg Vi
vii What is the difference between receptors and response? ‘.‘.7.,3.3 Y J.';.'.’/_', AL E VI
viil. What is meant by positive feedback mechanism? ‘o Ve (I £2y Vi
3. Write short answers to any Five Parts : (5x2=10) -z,-,.-,yz,""z:,lzr&;;d/ -3
Define catiaze  Write name of its two types. ) "‘ ,-:J/J‘ Z ’cf-e’/‘nd'/ge -i
i Define antagonism. @Q -é.@fd’(if&;' i
i o e S A i

3 - &, &, -
LA S PRy

iv. Define pollination and cross pollination.

- Detine fragmentation and give an example. o @
v. Differentiate between epicotyle and hypocotyl. Z% -—-: ckJ/ v’fJ’t‘ff:"_w-‘ .4*2!’:,;'-‘ -V

vi. What are two sources of variations? @ ?ufc,w(éb:» »L.:«',c"-’- Vi
vii. State Mendel's Law of Independent AssortreAt St L GnST 0 € Sl i
vil. Define Co-Dominance. EwISU- S i
4. Write short answers to a (5x2=10) Sl L2k 8 4

' What is meant by ecosystem? ' fe e ,/"'r.(' -

i Define biomass. -.::u ;,;/;.r_" i
. Write the name of two types of fermenters. _:g_-;f- o P o BT
v. Write some uses of aspergillus. LB »‘»;LJ’"‘;V’-" -iv
v. What are synthetic drugs? Tl u;ft -V
vi. Define antibodies, A i
vii. Write the name of two narcotics drugs -.’i"’(t&;.gu' v”ift 2 Vi
1 Befine antigens. _5’4,{5’ /-‘J-l - Viii

(Section -1l . ¢ )
(Each question carries Nine (4+ 5= 9 ) marks (< (4+5=9)J [.‘ilrg)

5.(a) Write in detail the types of dialysis. --’-“’:c:—u"-";,':lj' SA (a)-5
(b) Write disorders of eye. How can these be removed? Sere ' m & £ Lo 35 )
6.(a) Describe arthritis and its types. -ég)g(tﬁv -fl s AT (a)-6
() V/natis germination of seed? Explain its types -”?{c,u;'t";»u-ffif?? ’.‘_)'/':«(c..g%b,é_/ (b)

with ¢xamples.
7{a) Whatis meant by water pollution? Describe its effects. S Ml felpe ;.-;'7\57 (a)-7

{b) Describe the scope and importance of biotechnology -Z’f_:u',. =l .‘.._,J;J.'»v-‘ii. o qf&(._))cﬁ;_/ ¢ sy, (b)

wis Ve,

in the field of medicine and environment
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Paper:1I  (Group:1I ) ( Academic Sessions2015 - 201% ) (-r’/ ) 14
marks : 12 SIWL- Cn__— |o-18  Objective (55 12 : 7
Time : 15 Minutes Code : 7466 @ 151

Note -

o

10.

44

12

. Which thing-is'n‘a.&é _ py'thé de

Ae B A3 L 2 erne S b vy g QK02 -SLED A C,BA ARl vy S

-b'nu"bh,«&uﬁ%au‘di/é/&KLL/QIU:}'»;&J;J? 23
You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

. The flower of the plant in which pollination occurs through -< Jx .gzjélmf:l}.;'&):{ & by L -1 A
wind s
water lily J;’f (D) sunflower u‘( & (C) grass JU’ (B) rose ._..Ab' (A)
Which one is the middle part of carpel. -q_.‘q}}_fu KK -2
ovary (. (D) stigma V(o)) style Jt# (8) filament .'_;»ui (A)
- Example of ball and socket joints is -‘c_d'\‘/&); 7 Sy -3
hip joints LS (B) skull joints SzLgyF (A)
knee joints SlE (D) eloow joints Sl (©)
_ Which one is not included in the symptoms of diabetes mellitus? YLtk s -4
tiredness‘ . 3 .',st(' (B)  weakeni &@lscles dufg(y (A)
loss ofyéightﬁ’ ! J:f!;m\ (D) @Qy breathing S e (©
. Which hormone inc?a;‘;,s.thé.}ev?l gf"é&!ci{,;n ions i . ?‘4_rlo'/,ﬂ,:£zJ 7’7(5-{;u} Uk v .5

’

parathormon'e/;)n} 14 (D) insuline

Q@ adrenaline d k241 (B) thyroxin ‘f':/&? (A)
dguimbof ¢ 0kl i guuiedided ST o -6

\.t,)"A

loop of}éﬂle? \
- . ) i - '.L_.I

water (}g (C) glucose Jf:‘ (B) salts .-.,_'L(f' (A)

ai.r;p(ers into PN ) Al S -1
i (D) trachea U/ (C)  oesophagus u‘pr.‘l (B)  pharynx J;’ (A)
Which antibiotic is bactericidal? ?‘c.andl’l.r S )'g..f I gd;-lkff -8
sulpha drugs %5 (R (B) tetracycline ‘;c"'w V4 (A)
thiazide (bt (D)  cephalosporins gl (C)
. To preserve pickle, fruits and vegetables, these are -q.rtgguu:ufzg' L/(Lf}ffug ol UM« sl -9
mixed with
onion and garlic g7 sy (B) water and yogurt @ L (A)
flour and salt Lot (D) salt and acid ‘ W28 L (C)
The smallest unit in ecological organization is By Ry - o7 \#'/TJ.’J:’:/ .10

ecosystem (7 %1 (D)  community & (© species ZU% (B)  population u"'gg (A)
Which one is an example of discontinuous variations? -:;-_J&J:J;"UJ/ 72 -1

height & (D) blood groups uf'n/ A (©) intelligence =*; (B) weight 'uJ: (A)

In law of independent assortment ratio of phenotype is -q_;‘%/&{’ tiz;u'-‘.’.:/‘/rl.:f',i';dﬁl I 12
9:3:3:3 (D) 9:3:3:1 €y 9:3:2:2 B 9:3:1:3 (A)

118-218- 14000 b gratd
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Time : 1 : 45 Hours swL'QL'IO'[

(Section - | Jil.»)

&1 4505
-é{/’a&lzﬁovlr (2)»:_(3{:.()5(”}.4..(5)0‘):!'.0 07

Note : Section I is compulsory. Attempt any Two questions from Section 1.

2. Write short answers to any Five Parts : (5x2=10) -éwyvzx’éumégr_éf -2
i. What is meant by cellular respiration? ey et M i
ii. Write bad effects of smoking. G el e LS i
iii. What is osmosis? el W Ul i
iv. Define halophytes with an example. e s E Sk v
v. Write the name of four parts of urinary system. -af(téu,b Kl S v
vi. Define response. Give an example. “Es g - é_gf"&f't;j/ i
Vii. l‘;:xplain brain stem. -Z_fyU:J(:"w_’/. ~Vii
viii. Describe any two causes of epilepsy. -g{ugagm [ UJ/JJ /= Vil
3. Write short answers to any Five Parts : (5x2=10) -’é».-.pzﬂ&.:ztéyc_éf -
.. Differentiate between endoskeleton and exoskeleton. @L«J/‘cﬂ u‘u-’C o u‘?‘cw' -1
il. Where are fixed joints found? @Q St sy A iz 45 _ii
il. How does fregmentation take place? o {&%%O ?‘4.3314 «ﬁ""“‘;’ il
v. Whatis double fertilization? @% . e VeRILALS v
v. What are STDs ? Write name of one STD. @%& -&fetg STDUI Sy STDs v
vi. What are nucleosomes? @ St Lalprdi i
vii. Differentiate between genotype and O ST ) NI R |
viii. Write the name of " Darwin's" -aF(tK.,D’ St _viii
4. Write short answers to any-Five Parts (5x2=10) -’{::e—&li/’ﬁ'lzligc-tjf -4
i. Define parasitism. EN plervs
ii. Define food chain and food web. - s 3 B8
iii. Define biotechnology. -Zi ._y/‘."d’d)’b?fi, -iii
iv. What is fermenter? e VR v
v. Write two uses of formic acid. e LA P v
vi. Define pharmacology and pharmacy. -Ef_gg{é‘l}.’.g,(o"'./b' s 36 i
vii. What are Hallucinogens? {0, AT Y
viii. Describe the uses of fermenter. et £ 5 i
(Section - Il, - f» )
(Each question carries Nine (4 +5=9 ) marks 1/ (4+5=9) J ZJivrs)
5.(a) Describe the function of human kidney. _éuy. J” ¥ 4_:/‘[5()" (a)-5

(b)
(a)

How does the process of hearing take place in ear? Explain it. -2_:" =2>o? c,t‘n(‘jh(,)/ ;f ¥ & Su¥ (b)

FEeobnd (U1 {2y flesiz (a) -6
LB S Ly #5335 ()

7. (a) Define ecosystem. Describe its biotic components in detail. -éug:.d:‘” Hz AL -’c‘:—l.'/‘."u((/ £ (a) -7

ke S S GBLE HG2 (b)

6. Define joints and explain the types of joints.

(b) Describe four methods of natural vegetative propagation.

(b) Describe in detail basic steps in genetic engineering.



